AR B 25 R I SRR s

BoAre sElkk ( 2017-2018 Z=4F — Z2H SE2fH-2H40 ) 20184 4 H 2 H
HI FERE 2 EEN RRIER TR JE | AR | S R e Skl I
HH 42 2T 2 Fi5 HH A2 5 A BR e BA I Zx 3 6 18 1 40 720
HH A% 20 =5 EAF¥R HH A2 5 A BR e BA I Zx 3 6 18 1 40 720
HH A% 20 =5 SRR HH A2 5 A BR e BA I Zx 3 6 18 1 40 720
H A= IMCHT HH A2 5 A Bk e BRI 25 3 6 16 1 40 640 3HI13HERK
2 0 52 it 5% A Ak | mBag | s | 6 | n 1 10 so0 | P i AT
(LSEELTIEA ks Bk 2 Bre BA Bk Be BRI 5 3 6 18 1 40 720
TR BE F bl 5 sk TR =h B BA HA SN 3 6 18 1 40 720
ANEREO 5 w M| mEmmB | Bk | meoig | 2 | 6 | 12 1 10 ago | P LA
NERHITE Lt ZEENTAIN G AUNIEZS 3 6 18 1 40 720
NERHITE X E ZEENTAIN G AUNIEZS 3 6 18 1 40 720
&t 6720
RNZF AL TTNZE T




AR B 25 R I SRR s

Bofrs sEYIAb ( 2017-2018 Z=4F — Z2H SE2fH-2H40 ) 20184 4 H 2 H
HI FERE IR TR RRIER TR JE | AR | S R e Skl I

BRI = ESVA 2 JEBRBE A SN TAYNYIE 3 6 18 1 40 720
ARERHIT ik JEIRPEBA BR e BA I Zx 3 6 18 1 40 720
BRI = EHR R R B A HA B A I 25 3 6 18 1 40 720
ARERHIT EB BER 5 A BR e BA I Zx 3 6 18 1 40 720
HEBR B = W% AR Bt BA HA SN 3 6 18 1 40 720
HEER U =2 e HEBR BT BA HA SN 3 6 18 1 40 720
HEER U =2 o HEBRB BA HA SN 3 6 18 1 40 720
UK T H = ik # e LT e BA HAR B A I 5 3 6 14 1 40 560 3. 14-164 1
UKRE = XA e Ll S e BA ESN ANl 3 6 18 1 40 720
BERRHEWT = 45 FERBEBA G AUNIEZS 3 6 18 1 40 720

&t 7040

AR N AL TTNBE T




AR B 25 R I SRR s

BoAre sElkk ( 2017-2018 Z=4F — Z2H SE2fH-2H40 ) 20184 4 H 2 H
HI FERE 2 EEN RRIER TR Sy e Skl I

ekt = B EBRBE BA HA B A I 25 18 40 720
ekt = ® % EBRBE BA HA B A I 25 18 40 720
A= SEHIRY | AR ZETERE A SN Be BRI ZR 18 40 720
LA = 5K A BT BEBA BR Be BRI ZR 18 40 720
RIEEGAE HT = B R4 HARE #E B A Bk e BA I 25 18 40 720
RORAL i i B 20t = HSF B BCAEE 2% B BA HA SN 18 40 720
RGAL R B HT = kK AN BR e BA I 25 18 40 720
RIEEGIAE HTE PR ZEIME BA G AUNIEZS 18 40 720
RS E BREETE | J7 30N SR HETAN G AUNIEZS 18 40 720

RS HE ERBITE | R SR HETAN G AUNIEZS 12 40 480 3H 12-16151%
&t 6960

i
il
=
%
i




AR B 25 R I SRR s

B sl ( 2017-2018 Z4F — 224 ZH2JH-2H48 ) 20184 4 H 2 H
1] AER 0T R4 R Bt | MR | A% | FER | R | REC | bR £ &Ik

PR IRZ B0 5 MIERR | BRKIRBEBA HA EINTIER 3 6 18 1 40 720
PR IRZ B0 5 kI 4K HA EINTIER 3 6 18 1 40 720
(R iRE B R BT E oA BRI | 2 6 | 12 | 40 g0 | bﬁgﬁ?‘f”i;ﬁ
fi B iz 3 3 RN (RESCIN HA EINTIER 3 6 18 1 40 720
g Bz sh#H = FiHHE Fauin B BA B Bt BRI £ 3 6 14 1 40 560 3. 26-281% 1K
il €4 8iie B TiEik B BA AR TAYNTIEZS 3 6 18 1 40 720

it 3920

HENZET: BRI 7 N




